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Assuming the waves conform to sin  raph (i.e., the height of the wave y varies
sinusoidally with time), we should be able to determine an equation to describe this
phenomenon and predict how lon the scabe expo ed.

From the information given, we can determine a few things.

k — 0 (sea level)

h-0

A - 55 feet (max)

Period — 12 minutes = 2w

B
P 2B =2
So, the equationis y= Ssin [—tJ B=2m - T
6 Z G
The seabed is exposed when the y-value is below -25 feet.
=—55qin| %
=-55sin [ 3 t]
E
25 =-55sin [Et]

—5—=sin[£t]
11 6
{ .472i27tn} Et
w-.472={2.670+2xn( 6
901+12n
{5.099i12n}

So, the seabed is exposed between .901 minutes and 5.099 minutes, or it is
exposed for roughly four minutes.
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